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program Problem1;
var
M, N, DS, DP, I: Word;
A, B, S: array [0..100] of Real;
. P array [0..200] of Real; o8 28 Ty [l 3. Jo i i i Sl
egin
ReadLn(N) ;
for I := 0 to N do
ReadlLn(A[I]);
ReadlLn (M) ; i
for I := 0 to M do
ReadlLn(B[I]);
for DS := 0 to N + Ord(M > N) * (M - N) do {WiD}
S[DS] := A[DS] + B[DS];
for DP := 0 to M + N do {WiD}
for I := 0 to DP do
P[DP] := P[DP] + A[I] * B[DP -I]
end.

.[,._a,)bﬁj).)bn\.abj!‘% Y

program Problem2;
var

N, I, J, K: Byte;

Tournament: array [1..100, 1..100] of Byte;

HamiltonianPath: array [1..100] of Byte;
begin

ReadLn(N) ;

for I :=1 to N do

for J := 1 to N do
ReadlLn(Tournament[I, J]);
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wesin for I :=1 to N do
M[I, J] := C[I] and 1; ) SoRtr
CL1) :=CL1] shr1 ¢ HamiltonianPath[I] := I;
#d for J :=1tol - 1do
end. if Tournament[I, HamiltonianPath[J]] = I then

begin
for K := I - 1 downto J do
HamiltonianPath[K + 1] := HamiltonianPath[K];
HamiltonianPath[J] := I;

program Problem3a;

var
L, )% Byte; Break
M: array [1::12; 1:.:12]) of 10::.4); end {if} B
CM: array [1..6, 1..6] of 0..1; end {for}

begin end.
for I :=1 to 6 do
for J :=1 to 6 do
CM[I, J] :=Ord(M[I * 2 - 1, J* 2 - 1] +
¢ M[I *2 -1, ] %2 ]+

M[I * 2 id %2 - 2] 4 program Problem3a;
M[I * 2 i) ¥ 2 1% 1) var
end. I, J: Byte;

C: array [1..12] of Word;
M: array [1..12; 1..12] of 0..%;
begin
for I := 1 to 12 do
ReadlLn(C[I]);
for I :=1 to 12 do
for ] := 12 downto 1 do
begin
M[I, J] :=C[I] and 1;
C[I] := C[I] shr 1
end
end.

program Problem3a;
var
I, J= Buytes
C: array [1..12] of Word;
N: array [1..12, 9.42] of 0. .4y

begin
for I :=1 to 12 do
ReadLn(C[I]);

for I := 1 to 12 do
for J := 12 downto 1 do
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program Problem4 ;
var

M, N, I, J: Byte;

C: array [0..100, 0..100] of LongInt;
begin

ReadlLn(M, N);

for I :=0 to N do

begin
Clo, I] :=1;
CLT, I) =4 °
end; {for}

for I := 1 to M do
for J ;=1 + 1 to N do
C[I, J] :=C[I, J-1]+C[I-1,]-1];
WriteLn(C[M, NJ)
end.

.N‘)'bﬂ)'_)) !) MUJ!

program Problem5;
var \

N: Byte;

c: char;

BIdx, EIdx, I: Word;
begin

ReadLn(N);

Eldx := 1 shL N - 1;

while BIdx < EIdx do

begin

for I := (BIdx + EIdx + 1) shr 1 to EIdx do
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Vreiakeld, * )%
ReadlLn(C) ;
if C = 'Y’ then

BIdx := (Bldx + EIdx + 1) shr 1

else if C = 'N’ then

Eldx := (Bldx + EIdx + 1) shr 1 - 1

end; {while}
WritelLn(BIdx)
end.

program Problem6;

var
I, J; €, 'Di Byte;
S: array [1..16] of Byte;
T: string[16];

begin
ReadlLn(I, J);
for C ;=1 toI - 1do
S[C] == C;

T[e] :=Chr(I + 3] - 2);
repeat

FitlLChar(T[1]; Length{T), ‘U");

for C :=1tol - 1do
T[S[C]] := 'R’;

C =1~ 43

WriteLn(T);

while (C > 0) and (S[C] =] + C - 1) do

Dec(C);
if C > 0 then
begin
Inc(S[C]);

for D :=C+1tol - 1do

S[D] := S[D - 1] + 1
end {if}
untiLC =0
end.
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program Problem1 ;

-C»«”cibgs}leﬁhebedbeoﬂvdbwﬁaswb -
K el oas ool plas (b Sl A e Sy JSE
N, P, R: Word;
C: array [0..10000] of Word: T i ::: :_- _*—: i
e 4|+ - e
ReadlLn(N); AEREEE B : i
for R := 1 to N do +|+|+ ]+ |+ +|+ HE
ey + |4+ |+t ||+
P = s $
for R := N downto 1 do
begin ¢
P:=PmodR+ 1;
WritelLn(C[P]);
Move(C[P + 1], C[P], SizeOf(C[P]) * (R - P))
end {for}
end.
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My x ((M2 x (M3 x My))

My x ((M2 x M3) x My)

(M1 x Mz) x (M3 x My)

(Mj x (M2 x M3)) % My

(M1 x M2) x M3) X My
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program ProbLém4;
Al e Sy saty,

var
F: Boolean; a5 gplos £33 53 (ol b (A31) 0 8 KU 0 B iy a5l s S sb Y gy
L: Real; ¥ [ 4 )
S: array [1..100] of ©..1; 23 n LS L) L s Jsb ol S (slgitn s (1951
P: array [1..100] of Byte; 1) =05U7) =2 4(5) = 3 :mls UL e o
R: array [1..100] of Real; LS Ealiad : .S
-~ o ‘J...al.!um,...,u] u_?)l_;.a_,fmb‘@,a,ac..-‘-)a&B . u’f’ |

function Projection(M: Byte): Real; Z_m] 2-luy) —
j= =5

var
I: Byte; ! 183 513 O Cad (4l
S: Real;
begin E(B) = Z Hu) = o)l b sann 4 a5l b s J5b o
S := R[P[1]] + R[P[MI]: sl Su
for I ;=1 toM- 1do e s s
S :=S + 2 * Sqrt(R[P[I]] * R[P[I + 111); LiB) s &IZ Uuw) = ol slon S gand 4 s 51 s Jsb pase

Projection := S
end; {procedure Projection}

E(B) = I(B) + 2n 1S ol &

procedure Permute(B, M, N: Byte);
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program Problem5;

var

M, N, I: Byte;

T: array [1..25] of Longint;
begin

ReadLn(N);

T[1] := 1;

for M := 2 to N do
for I :=1toN - 1do
Inc(T[M], T[I] * T[N - I]);
WriteLn(T[N])
end.

i oS gy el a2y Jala e m =1y man e S i b izl
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DL 1) 5 szl il s s 5o i ASBIE S8 55 fiaggil (Sl 4y el 4
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var
I: Byte;
begin
if not F and (B = M + 1) and (Projection(M) = L) then
begin
F := True;
for I := 1 to M do
Write(* *, PLI])
end {if}
else
for I := B to N do
begin
P[B] := S[I):
S[I] := S[B];
Permute(B + 1, M, N);
S[I] := P[B]
end {for}

end; {procedure Permute}

procedure Permutations(N: Byte);
var
I: Byte;
begin
for I :=1 to N do
S[I] =1}
for I := 1 to N do
Permute(1, I, N)
end; {procedure Permutations}

var
I, M: Byte;

begin
ReadLn(M, L);
for I :=1 to M do
ReadlLn(R[I]);
Permutations(M);
if not F then
WriteLn(‘No answer!’)
end.
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program Problem6;

function Max(A, B: LongInt): LongInt;

begin
if A > B then
Max := A
else

Max := B
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Enter n: 10
Enter r: 0.25

IS~X> BRYES
IS X > 82 NO
IS X > 72 NO
IS X > 62 YES
IS X > 52 NO

The number (X) is 7
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ReadlLn(R);
N := BinarySearch(1, N, R); s
WritelLn('The number (X) is ‘, N)

end.

end; {function Max}

function Answer(K: LongInt; R: Real; var Q, L: LongInt): Boolean;
var

Y, N: LongInt;
A: string;
Aé«hww.raé]ﬁé.ua‘_‘dw:qdﬁAéhéﬂL“T:]r.,..‘-h&lll i 3
{ma,my + 1,0 ma} slesas gassame il il caws gl 4 B S el ) ; f g:,
VishelhoFap B sl Vo gl fl oi 5 ot B oo while Max(Y, N) <= Trunc(R * (Q + Y + N)) - L do
o3 S gl bsae ol o b b5l pa A o a3l (s o0 ey 4 t‘)‘-.' begin | -
' a3 e by frely Write('IS X > , K, 2 ‘),
ReadlLn(A);
if A = 'YES' then
Inc(Y)
else if A = 'NO’ then
Inc(N)
end; {while}
Inc(Q, Y + N);
Inc(L, Y + N - Max(Y, N));:
Answer := Y > N

end; {'function Answer}

function BinarySearch (BIdx,

EIdx: LongInt; R: Real): LonglInt;
const
Q: LongInt = o;
L: LongInt = o;
begin

while Bldx < EIdx do

if Answer((BIdx + Eldx) shr 1, R, Q, L) then {EiD}

BIdx := (BIdx + Eldx) shr 1 + 1
else

EIdx := (BIdx + EIdx) shr 1;
BinarySearch := BIdx
end; {function BinarySearch}

ar
N: LongInt;
R: Real;

gin
Write('Enter n: ’);
ReadLn(N) ;

Write(‘Enter r: );

’
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program Problem4 ; !
var

a: array [0..1373] of Longint;

k, i, j, f: Integer;
begin

af0] = 0; af1] == 4y

for k := 2 to 1373 do

begin
a[k] := a[k - 1];
repeat
a[k] := a[k] + 1;
B a= 1

for i ;=1 tok - 1 do
for j :=0to1 -1 do
if (a[k] - a[i] = a[i] - a[j]) then
F :=90;
until (F = 1);
end;
end.
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program Problem7a;
var
I, 0: string;
C, X, Y, Z: Byte;
begin
ReadlLn(I);
for C := 1 to Length(I) do
if I[C] = ‘2" then
begin
I[C] %= Chr(Ord("1’') + 2 * X);
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X :=0;
(Sl
Z =1
end {case}
else
X:=0
else
F =i Trioe;

1 then
[0}

N
Won

else
F := True;
end; {case}
end; {for}
WritelLn(not F)
end.
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end.

Yui=1 =¥
end; {if}
for C := 1 to Length(I) do
case I[C] of
&S
begin
O[C] := Chr(Ord(‘A") + X);
X =1 -X
end; {1}
30
begin
O[C] := Chr(Ord('B’') + Z);
Z:=1-12
end {3}
end; {case}
O[o] := I[o];
WritelLn(0)
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program Problem7b;
var
0: string;
C, X, Z: Bute;
F: Boolean;
begin
ReadlLn(0);
for C := 1 to Length(0) do
begin
case O[C] of
‘A
if X = 0 then
X =1
else
F := True;
B

if (X = 1) and (Z = 1)
X :=0

else if (X = 0) and (Z
Z :=1

else if (X = 1) and (Z
if C < Length(0) then

case O[C + 1] of
‘AT, 'B’:

then

0) then

0) then
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